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%% % 7 & Instructions to Contestants

10.

11.

R S E AN 2}%% I O R =" s S S S
You should place your Admission Form on your desk for the whole session.

I FHRF L EMAT S RIF AR L2 B EP KR .
During the competition, you should switch off your mobile phone and any other electronic or
communication devices that can emit sound.

RIEP LT RGN F o - PR R gure}g P o
Contestants should finish all questions in this 1-hour written test.
EEMAERER A FFH LA I AR R R R
Write your name, class, admission number, seat number and school name on the front cover of your
answer sheet.

FREVFRR AR A R B T M
You can only use the rough work sheet provided by the organizer.

;ja;;‘:—?;n ?%E‘LL%\:‘ BB .

The use of calculators is NOT allowed.

FAERF FREB AN GRELFAAL BRI L ARE I REBPEAT

Put your answers on the answer sheet provided, otherwise, the answers will not be marked. You are not
required to show the steps in your calculations.

AR BT A BN R 2 E -

Unless otherwise stated by the question, answers of fraction should be expressed in their simplest form.
f#’#\ﬁ‘/m b ’Z?‘ﬁ*"‘ﬂ‘iﬁﬁ ZED AR fEF LS

Under normal circumstances, contestants are not allowed to leave the contest venue before the end of this
session.

BEVFRREG VAR RFTR

Any contestant who violates the rules and regulations of the competition might risk disqualification.
FREAH FERA RN G ERANALE FFEANE I R T
ERDERI KT 4§ RY A F et BB AR
If you have any queries, you should contact the officer-in-charge immediately after the competition. Late

A-\\

queries will not be entertained. The decision of the organizing committee will be final.

1 B AJEH Individual Event




/IN7S4H Primary 6

pEYL L — | pF e 1100
Time Allowed: 1 hour Total marks: 100
I BRI TEFHIATA AR EM - KEZEIESR - (€1sp)
What is the perimeter of the following figure (cm), given that all the angles are right angles?
8 cm (3 marks)
A
2cm
5 cm+

2. VA LKMBVKR R E K & RKE FRFFTRAI - 5 15 /NRFRK

(O8]

& RFTHEVKE - AIFEEE 30 /NER Tt » 3 RS TR A 7KE - B2 A se w2
(477)

A swimming pool has a hot water hose and a cold-water hose. When two hoses open, a swimming

pool fill up water fully in 15 hours. If only the hot water hose open and fill up that swimming pool,

it needs 30 hours. Now we use only the cold water hose to fill up the same swimming pool, how

long should it be to fill up the swimming pool? (4 marks)

1 % 2022 PEJRHE 35 K 8 BERIVETFHZ/DE ? (477)
From 1 to 2022, how many numbers are divisible by 3, 5 and 8 at the same time ? (4 marks)

SHELMNEE - BBIFEER DA O BE ~ 36 5% ~ 34 5% - #ZF% - EENSENER
SN EFIHY 4 157 (457)

The ages of John, his father and his mother are 9, 36 and 34 respectively this year. After how many
years will the sum of the ages of John’s father and mother be 4 times that of John? (4 marks)

1-2+3-4+5-6+7— ...... —-2022+2023 =72 4 797

1-2+3-4+5-6+7— ...... —2022 +2023 =" (4 marks)

FEF—EA T - B2 B BEHIRZNERN - S AR S 522 % ?
(457)

In a certain month, there are more Mondays than Tuesdays and Sundays more than Saturdays, so

what day of the week is the 5th of the month? (4 marks)

Foa ~ b FcetghEE > H a+b=2022 Ff c—a=2023 % a<b >

Koa+tb+c HEKRE - (497)

If a, b and c are integers, where a+b=2022andc—a=2023.If a<b,

find the greatest valueof a+b+c. (4 marks)

A EE R RN E LT P ARG - & i Y
IEAHIERR 1 om > KK GIERTETE (5 47)

A rectangle is divided into six small squares, as shown in the
following figure. Given that the length of the smallest square is
lcm. What is the area of the rectangle (cm?) ? (5 marks)
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S A V{ERER - 4 (B 1 {EF - 5 6 [E/KRAFIEER 250 5¢ « AIRGH S
HEIE 240g > FUNVESEAREEN 25 ARNVEERZ/D? (5 57)
There are 1 apple, 4 oranges and 1 pear on the table. The average weight of these 6 fruits is 250g.
If the average weight of orange is 240g, and the weight of pear is two times that of apple.

What is the weight of apple? (5 marks)
i ﬁ:l_k—ll aj‘z X ° (5 éj\)
275 2. .
4+—
29
r 3Bt fndx (5 marks)
275 2. 1
X
4+ —
29
K622 W T BRAVEREL - (S 7)
Find the remainder when 6%?? is divided by 7. (5 marks)
R 2023 x 2022 BREL 13 HUEREL - (557)
Find the remainder when 2023 % 2022 is divided by 13. (5 marks)

A 105 % 588 x 1782 x 3185 x*k FREBAEHIFAM 0 - 5K * Hyf/IME - (557)
If the last 6 digits of the result of 105 x 588 x 1782 x 3185 x% are 0, find the least value of *?
(5 marks)

3R BITAIE-RARGS BB ERB AU A (8 B S om WIEST » IH4E
ZIE-RARTBR — E R TR MEZ ARy 5405 cm® o SKIFSRE T T AVEE-RARAYEIE
(547)
Cut a 5 cm square from all four corners of a piece of rectangular cardboard (sides with positive
integer), and fold the cardboard into a rectangular box such that it’s capacity is 5405 cm®. Find

the area of the original rectangle of cardboard. (5 marks)
STHEL 4171 1 5891 Ay KA RS - (557)
Calculate the greatest common factor of 4171 and 5891. (5 marks)

FHYEZIETTIE ABCD HYAHEE S IE 5/ EFGH HY9M%

> CHIBEIFY-F1E R 20 em > SKEZRZE0 T HVIERE © (5 9)

In the figure, the circle is incircle of square ABCD and
circumcircle of square EFGH.

It is given that the radius of the circle is 20 cm, find the area of the
shaded region. (5 marks)
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WIEF~ » ABCDEF Fy— /Nl » Hfp AB=BC=13

cm ~CD=8cm - DE=A4AF=16cm K EF=10cm - EH1
BHE RS HUNEIPHYTEEE BB » B L
C K D BECHIRIARY] - KE2sZ 8 riyE 5 -

(i m=3.14) (6 57)
In the figure, ABCDEF is a hexagon with AB = BC =13 cm,
CD =8 cm, DE = AF =16 cm and EF = 10 cm. It is given that
the radii of each sector are equal and the vertex of the hexagon

is the center of the circle, where the sectors with the centers C
and D are tangent. Find the perimeter of the shaded area.
(take m =3.14) (6 marks)

YE R > AS=2cm >~ AP=6cm~ BQ=4cm ~DR=8cm - #1F 5 ABCD NHY

MU PORS EVIEITERy 70 cm® » SKIEJTE ABCD HIBE - (757)
In the figure, 4S =2 cm, AP =6 cm, BQ =4 cm, DR = 8§ cm. If the area of the quadrilateral PORS
inside the square ABCD is 70 cm?, find the side length of the square ABCD. (7 marks)
A S D
P
R
E
B 0 C
AR - ABCF —HIE A - ABEC WERSILE T 4 7
ABCF THf&/N 18cm? - E41 BC =3CD » KIEH
ABCF HJIHA - (7 57)
In the figure, ABCF is a square. The area of ABEC is 18 cm?
smaller than the area of the square ABCF. If BC = 3CD, find
the area of square ABCF. (7 marks) B C D
1
— : . T S
+ + + ot
2+4 2+4+6 2+4+6+8 2+4+---+10 2+4+---+2022
(8 57)
What is the integer part of
1
(')
1 1 1 1 1 ? (8 marks)

+ + + 4+t
2+4 2+4+6 2+4+6+8 2+4+---+10 2+4+---+2022

52 END OF PAPER
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